
 

 

 

CPD points are to be distributed based on the following Examples: 

If there is a program with 3 Lectures of 3 speakers (Speaker A, Speaker B, Speaker C) and the agenda with 

points is as follows: 

Program 

Duration 

Lectures Speakers CPD Per Lecture 

08.00-09.00 Lecture 1 Speaker A 1CPD 

09.00-10.00 Lecture 2 Speaker B 0.25CPD 

10.00-11.00 Lecture 3 Speaker C 0.75CPD 

 

The total CPD points allocated for the full program is 2CPD. 

• If the speaker A has attended the full program, he/she shall receive 2CPD (for attending the full program) 

+1CPD for his/her lecture. 

• If the speaker B has attended the full program, he/she shall receive 2CPD (for attending the full program) 

+0.25CPD for his/her lecture. 

• If the speaker C has attended the full program, he/she shall receive 2CPD (for attending the full program) 

+0.75CPD for his/her lecture. 

• If the speaker A has delivered only his/her session and did not attend the full program, he shall receive 

1CPD + 1CPD for his delivering his/her lecture. 

• If the speaker B has delivered only his/her session and did not attend the full program, he shall receive 

0.25CPD + 0.25CPD for delivering his/her lecture. 

• If the speaker C has delivered only his/her session and did not attend the full program, he shall receive 

0.75CPD + 0.75CPD for delivering his/her lecture. 


